AP Calculus BC
Unit 8 — Day 10 - Assignment
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a) y=1 b) y=2

2) What are all of the horizontal asymptotes of all the solutions of

equation & = y (8 —(@Rhy)? 100\ N (000 ~Y)
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a) y=0 b) y=8 )y=8000 dy=0&y=8 e)y=0&

3) What is the carrying capacity for a population whose growth rate is modeled by
0012 oap(500-9)
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b) 50 c) 0.012 d) 0.002 e) None of these
4) A rumor spr eads through a community at a rate of - = 2y(1 - y), where y is

proportion of the populations that has heard the ILII'HOI at time t,
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b) If, attime t = 0, 10 percent of the community has heard the rumor, find yasa f‘"
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5) A popuiatlon 1s modeled by a funcuon P that satisfies the logistics differential’
A A -7)
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a) If P(0)=3, what is tlim P(t)? | [~
If P(0) = 20, what is lim P(2)? ' E, EL]

b) IfP(0)= 3, for what value of P is the population glowmg the fastest?
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¢) A different populatlon 1s modeled by the functlon Y that satisfies the separabl
differential equatlon —="= ( d

Find Y(t) if Y(0) = 3. di“ Y (12 -4)
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